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Find the values of the variables in the matrix.
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A)x=Ty=§z=-1 B)x=7,y=§2=5
Cx=-8y=7,z=-1 D)x=7,y=8z=-1

A bakery makes sweetrolls and donuts. A batch of sweet rolls requires 3 Ib of flour, 1 dozen eggs, and 2 Ib of sugar. A
batch of donuts requires 5 Ib of flour, 3 dozen eggs, and 2 Ib of sugar. Set up an initial simplex tableau to maximize
rofit.
34) The bakery has 2801b of flour, 220 dozen eggs, 2101b of sugar. The profiton abatch of sweet rolls is ~ 34)
$9.00and ona batch of donuts is $14.00.

A) s dxixxp B) s dx1xx3p
3 51 00 0280 3 51 00 0|20
130 10020 1 30 1002
2 2001020 2 2001020
<14 90 00 1 0 5-140 00 1 0
Q s dxixaxap D) s dx1xGp
3 51 00 0|20 3 51 00 0280
130 100220 130 100 220
2 2001020 2 2001020
9140001 0 2 #00071 0

Find the periodic payment that will render the sum.
; 35) 5=568,000, interest is 12% compounded quarterly, payments are made at the end of each quarter  35)

for5years
A) 528356 B) 533959 C)$3636.13 D) 5253067

Find the probability of the given event.

| %) Asingle fair die s rolled. The number on the dieis a3ora 5. %)

1 1 1

A)2 B3 ag Dig

How many distinguishable permutati ons of letters are possible in the word?

| = ccee )
A)720 B) 20 )3 D) 4320

olve the problem.

38) If the life, in years, of a television setis rormally distributed with a meanof 33 years and a standard  38)
deviation of 7 years, what should be the guarantee period if the company wants less than 3% of the
television sets to fail while under warranty?

A) Less than 1375 years B) Less than 46.16 years
C) Less than 1984 years D) More than 19,84 years
39) The temperature of water in a certain lake on a day inOctober can be determined by wsing the )

model y = 152 - 0.557x where x is the number of feet down from thesm{xeafthzhkga’ndv isthe
Celsius temperature of the water at that depth. Based on this model, how deep in the lake is the
water 11 degrees? (Round to the rearest foot.)
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